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QUESTION 1

Which of the following element properties is used to perform subtraction within the dimensionhierarchy?
A. Weight

B. Format

C. Attribute

D. Aggregation

Correct Answer: A

QUESTION 2

An application developer must create a process to build subsets for a dimension and add elements from an ODBC
source.

Which Turbo Integrator script should be used to update the subsets?
A. Epilog

B. Parameters

C. Prolog

D. Metadata

Correct Answer: D

QUESTION 3

Why is the same error generated from TI processes repeated multiple times?
A. The TI process was executed more than one time.

B. The chore was executed more than one time.

C. The TML1 server ran the process for each cell in the cube.

D. The script in the process ran for each row in the source.

Correct Answer: D

QUESTION 4

An application developer would like to calculate the average percentage ratio instead of the default hierarchy
consolidation, but leave the ratio calculation as it appears.
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Which of the following will do this?

A. Use a function to determine the aggregated cells.

B. Use an alias to determine the aggregated cells.

C. Use a feeder statement to determine the aggregated cells.
D. Use a C: to determine the aggregated cells.

Correct Answer: D

QUESTION 5

An application developer is creating a custom TI script and has selected no data source. Which of the following scripts
will be available to the process?

A. Metadata and data
B. Prolog and metadata
C. Metadata and epilog
D. Prolog and epilog

Correct Answer: D
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